TRBOFE MM —MREEVRKRLS G HIFEERNRIEREE

OEDHITE—REENDEACLOBRBERVHE FRITRAFEIFDTEIE 1)

(B {: kg)
4R 5A 6A 7R 8H 9A8 108 118 128 18 2H 3H a&t
BEAN IR 0
BEAITR AR E 80,470 106,120 58,510 70,960 80,660 80,170 72,590 79,680 116,470 51,400 66,600 51,010 914,640
TREE 51,790 46,110 53,420 34,740 44,050 39,410 46,180 50,710 58,370 39,910 35,820 45,860 546,370
(=) ANEHE- L% 54,820 148,220 18,870 19,510 14,170 30,110 37,510 24,870 58,640 38,940 45,670 57,780| 549,110
(DR ANEFE- L% 47,480 141,090 63,840| 3,695,550| 1,824,830 935,140 192,190 211,350 30,400 66,090 243,910 293,930 7,745,800
BiM 1,284,240 1,284,240
ast F= ke) 234,560 441,540 194,640| 3,820,760| 1,963,710 1,084,830 348,470 366,610 263,880| 1,480,580 392,000 448,580| 11,040,160
R 75100 - - - - - - - - - - =
OFEEE - BKI D miEtE R FEITRBNEAEZDT7EAE O-/0\)
SRR 48 5H 6H 7H 84 9H 108 118 12A8 18 2R 3A
ENEH |snez|EEE | snee|EEE | soeR| B | Are | EHEE | saeR| B | ansR | EER | Aree | BB R | sreR| EEH | anet | EER | Arwe | EEE | sres| B H | anes
HeEE #H | OK [#H| OK |#H| OK [#EH| OK [#H| OK |#H| OK |[#EH| OK [#RA| OK |#H| OK |#EH| OK [#RA| OK |[#H | OK
| BKT | &#H - |#8| - |#H| - |#8| - (88| - |#H| - |#8| - (88| - |#H| - |#8| - (#8| - |#H]| -
XEA: THHRB. ERERRKRS
Ot - ZHRULIER FEHASPKEBO R EER GEITRAEAZDTELIE ~-H)
SRR 48 5H 6H 7H 84 9H 108 118 128 18 2R 3A
ENEH |snez|EEE | snes|EHEE | soeR| B | Are | EEE | saeR| B | ansR | EER | Aree | R | sreR| B H | ansk | EER | Arue| EEE | sreR| EEH | anrs
WEL | 88 | - |BA| - |&A| - |®H| - |®A| - |&A| - |BH| - |&BA| - |&A| - |BA| - |&BH| - |&A| -
powwekin| EH | OK |#H| OK (H| OK |[#H| OK |#H| OK [f#H| OK |#H| OK |#H| OK [##H| OK |#H| OK [#H | OK |#H| OK

XE|H: TAHBE. FEXRFRERC

O MEARBTENAERR BITHRAE4EZDT7HEIER V)

EXY

5,202|m3

(H31.1.78F 5)



